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10> 4+ 10 = (—1)2 —3 =

(D +(-10) = (2 —4=

(—6)° +(-9) = 2" —(-3) =

2D +7= 400 —5=

1)+ (7= 72— (1) =

20V +(2) = (~10)° + (~4) =

DV = (=7 = 82 +5=

179 -2= (-8) = (~4) =

(8)+(=7) = () +4=

(-10)7V = (-9) = oD — (=2) =

www.snowmath.com



https://www.snowmath.com

gg o ﬁ i'ti OB HO T
e 451 S
10> +10 = 110 -1)* =3 = (-2)

(D)7 +(-10) = (-9)
(6)" +(-9) =27

15

2D 4 7="2=
7 > 7

1
2
(1) +(=7) = (6)

3 1
2+ ()= (3)=(13)
D= (D=6

17 —2=(-1)

() + (7D = (=15

89 9
— 8_

_1mED v &2 _
(10) 9 =15 = %10

D 4= Dy = 4k
(2 —4=(5)=(43)
2~ (-3)=4

D5 -0y 4

47 =5=0)=04)
7’ —(-1) =50

(-10)° + (-4 = (-3)

82 +5=69

(=8) -4 =(4
(8)2 +4= 26577 - 46i4
oD —(-2) = % — 2%
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